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iog datr,

g ML for pi
:$lll1-4lar.zgss"the predicted house price by each model for 5

ting housing prices you have trained three
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Option B: Box Plots "r'.l..f it1'.,.:rit,.f;l
Option C: Stem and Leaf plots

0otion D: Pqjrpiqlq "'r 
.:a ::-'.1 r,:.1.j__:F=-}

9. Which statistical tool should be rrsed to t i*
means?

A: ANOVA _^i:-\l.i-* 1."..i', :.r..:i .+ .;.' .:. .,{] .ir:: r,-

,.,, ilr i.i.]"' 
!r: 

... ....": ,..j:: ).-11 i1".. -:',t :.:
r]

i

+

Ootion B: T-test r-i;lTiJ.....E:riT
Option C: Chi-square test

Ootion D: Interval Estimation ,'i;}.,'"jx "i'i::' J * t+ 
.-,.' r .'-'1" ;l{ffi

- 10,I
t-
I Which is l'JOT the correct statei'rrent about the InterQuartile Rarrge.

Ootion A: The interquartile range tells you the spread of the middle half of your di.t.ib.rtiot.
Option B: rQR: Q3 -Q1

Option C:

-

ln boxplot upper whisker indicates Q3 : . ' .ir.: ' '

Option D: In boxplot IQR is indicatcd b5,the edges of the rcctangle

Q3
A Elaborate in detail the st

archite&u. r A;asrarir.i.l
B

-.{: I .\ 

"\.\ 

\

,' .rl " ,'
House Price Predicted

Triel2 Trial3
3.4 3.8

Lakh Rs

Trial4 Trial5

;t .:::,', 1..$;- ",-! .;..: : .. ':.3.9- .-
3.E 3.7 3.9 3.6

i i':*,1'*[.::*'"; -rr .'.3 J^J 3.6 3.5 3.8

,-:, -,-r

.:{ ,1 ' r"l

'.:+:+.".i

.,. ,. , ... , .r,.,, 
.. 

:,

Perforrn.One.way ANOVA F Test on this data anC comment on whether the mean house
price ,oredibted b; modeis A, B, C are same with level of significance 0.05. (Use of F
Table is allowud)
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Univel'siJy o{ Mumbai
Examinalions sumrner 2022

AI and DSI SEM Vi lT 27105122 Corrections

Q1 is of 20 marks. Each subquestion is of 2 marks.

Answer any 2 in questions 2,3 and 4

Compare Linear Regression Vs Logistics Regression with suitable diagranx and
formulas.

coefficicnts of correlation and covariance suggesl. Calculate COV(Age, Strength) and
C_ORR($g_e,_!]tgl S t ) t'or lb1 1 ou1|gg*{ggrtl9yjo i,ou int erpret thes e .,,a iu es ?

iSubjecl lD Agte Srreligrlr

;Ai3dZCiBiaiis
iD i 3fi, ?L

if j 69r L?

ll* . ?ft 3R

it so, g
t" --"--'. " : --t J

iJ 32 ?2;J- .. , 5t 17

I

lL 56 ls
ilr* : 21 ?B| .. - 34 ?3

w
i. Explain forward chaining and backward chaining algorithm withthe help of
exarnple.
ii. What is heuristic function'? Which search a

Correction in Q.2A) Q.4A)
1. Hqppv p*pt" t "* *i"t*e tift. 

:

min-max anda -beta

use it?
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